BSEH Practice Paper 1(March 2024)
CLASS:10" (Secondary) Code:A

RollNo. [T T T T T T

IOTA(HTAHR)

MATHEMATICS(Standard)

[Time Allowed :3 hours] [Maximum Marks:80]

® FHUIT ST Y of fob 3§ WRA-TF H Hfad go6 21 T
g7 38 § |

® Plecase make sure that the printed pages in this question paper are
21 in number and it contains 38 questions.

® YA-UF & Gl 3N GTU 91T A3 da &l SF IRl k-
giEdsT & Tgel Js W fo@r Sirr =mev |

® The code No.on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o Rl URe &I 3T &l X FLed F Ugel 3R hAlh
forg=1r g |

® Before beginning to answer a question, its Serial Number must be
written.

39T 3T Rl H Wrell go&/ 56 o BIS |

Don’t leave blank page/pages in your answer-book.

® SIR-YREAHR! & fARFT g 37 e a1eT & Seat |
A INAIHATAR g ford 7 for@r 3w o FIe |

® Except answer-book, no extra sheet will be given.Write to the
point and do not strike the written answer.

® TJ&TAT TAT AT da TA-UF U 379 o |
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® Candidates must write their Roll Number on the question paper.

® FUIT YAl I 3R ST ¥ Ugel Ig FlARTT T of T
WeT-9F qUT @ HEl g, 98T & 3Wid 38 §a¢ H s o
graT TAIPR el ThAT ST |

® Before answering the questions,ensure that you have been supplied
the correct and complete question paper,no claim in this
regard,will be entertained after examination.

AT fAder:
1. A MAITHSTE &, T, 7T, T IR 5l

2. @U8 -F H 1 T 20 doh TH -Uah 3{h & 9T gl1 & 18 dah
Tgiaehedia(MCQs), U s 3089, ReFd ¥1T gfd AT /3rcT T
JAaT 92T I&Ar 19 3R 20 FfAFya-de  ImaTRd 9T &

3. @us-@ H 21 @ 25 d& 3fd o 3AA(VSA) JHR & ar-ar
3R o T & |

4. @S- # 26 ¥ 31 deh o - IAA(SA) YR & et e
3R o T & |

5. @Us-g #H 32 &35 d& oY - 3A0A(LA) YRR & 99T 37
& g & |

6. @3- § H YT T&AT 36 ¥ 38 d& ThUT 31eTAT 3R IR -
IR AR b IRA g | T—¥d YRUT 3ETIT H HTdRe Thed
XA A FURTH I AT E |
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7. Y ueaT 3Oy & g, @us-@ & 2 YAl A, @US-T & 2
AT H, @US-H Hh 2 YAl H§ dT WS- & 3 YA H AR
Qeeq &1 yraarsT  fam ram gl

General Instructions:
1. There are S sections A, B, C, D and E in this question paper.

2. Section — A consists of one mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions (MCQs),One Word Answer,Fill in the blank, True/False and

question numbers 19 and 20 are Assertion-Reasoning based questions.

3. Section-B consists of Very Short Answer Type (VSA) questions of two
marks each from 21 to 25.

4. Section-C consists of short-answer (SA) type questions of three marks each
from 26 to 31.

5. Section-D consists of Long-Answer (LA) type questions of five marks each
from 32 to 35.

6. Question numbers 36 to 38 in Section-E are case study based questions of
four marks each. Internal choice is given in each case study question of two
marks each.

7. All questions are compulsory. However, provision of internal choice has been
made in 2 questions of Section-B, 2 questions of Section-C, 2 questions of
Section-D and 3 questions of Section-E.

Us-F
SECTION-A
GUs-& H 1 3(F & 20 v T

Section A consists of 20 questions of 1 mark each.
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1.3 65 31 117 T HCF 65m-117 & &7 H T AT ST TohaT ¢,
adf m T AT g

(a) 4 (b) 2 (c) 1 (d) 3

1.If the HCF of 65 and 117 is expressible in the form 65m-

117,then the value of m is

2. afp =2 &, A p U/

(a) qoT w&an (b)quties (c) IRAT TEar
(d)3aReT Fwar

2.1f p*= % , then p is a/an

(a) whole number (b)integer (c) rational number

(d)irrational number

3. T gfaurd ague, o qmaw -3 3R 4 €,

(@) X2 x +12 (b) X2 +x +12 (€) = —6

(d)2x? +2x —24

3. A quadratic polynomial ,whose zeroes are -3 and 4, is

@xx+2 B2 (@55 —6 (d)2x2 +2x —24
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4. gfdaTd FHIRIOT 2x2 —V/5x +1 =0 §:

(a) & Tieel areaider AT (b) &I FA ddldeh HoT () g AEATdD
HeT oAg1 (d) a7 & 3t aredideh el
4. The quadratic equation 2x> —v5x +1 =0 has

(a) two distinct real roots (b)two equal real roots

(c) no real roots (d)more than two real roots

5.ar THI(AP) &l AT X GHATA gl S5 & Teh &l Ugell UG -2 8
3R g@R & -6 AT 37 59 Uq & o A AW &
(a) 2 (b) -2 (c)4 (d)-4

5. Two APs have the same common difference. The first term of one of these is
-2 and that of the other is -6.Then the difference between their 5th terms is

(@) 2 (b) -2 (c)4 (d)-4

6.d% foig St fdg A(-2,-5) 31X B(2,5) T Siisa dTel @1 @S & ofd
HHGTAHATSTR W T8I &
(a) (0,0 (b) (0,2) (c) (2,0) (d)(-2,0)

6.The point which lies on the perpendicular bisector of the line segment joining
the points A(-2,-5) and B(2,5) is

(@) (0,0) (b) (0.2) (c) (2,0) (d)(-2,0)
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7.3f¢ AABC, ADEF & TH®T §, A=47° 3R E=83°,dl C=
(a) 50°  (b) 60° (c) 70° (d)80°
7.1f AABC is similar to ADEF, A=47°and E =83°then C=

(@) 50°  (b) 60° (c) 70° (d)80°

8.afe fdig P& e odTe g I T WV PA R PB T gl T 80°
% 0T OT ST B, Al POA SIS g

(a) 50°  (b) 60° (c) 70° (d)80°

8.1f tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80° ,then POA is equal to

(a) 50°  (b) 60° (c) 70° (d)80°
9.Teh g 3 g e TN @M & 387{ass g ETEIC
3

9. The common point of a tangent to a circle and the circle is
called

2tan 30° %_

10. 1+tan230°

2tan 30° is
1+tan230°

10.The value of

11.tanAShT AT Fed 1T A i gl (FE1/3Terd)

11.The value of tanA is always less than 1. (True /False)

6
Downloaded from cclchapter.com



12.37¢ AABC, CIT THDIUT §, adT cos(A+B) T HIeT g |

12.1f AABC is right angled at C , then the value of cos(A+B) is

13.351 RATN Uk gd & 10T p dled FoTWs &1 &A%l (33l A) &:

(a) EXZ (b) Tao > 2 (0 %XZ (d)%XZ R?

13.Area of a sector of angle p(in degrees) of a circle with radius R is

2
(a) EXZ (b) o (©) %XZ (d)%XZ R?

14.70 Y <A dTel T g H, Ife Teh T g T 60° F HIOT FaATcll
GIICICIEANCE J

14.In a circle of diameter 70 cm, if an arc subtends an angle of 60° at the centre,
then length of arc is

1521 feist & Bev 5.7 % 36U & g 3R 3e1h 318 3:5%
3T & 8, A 3eTh dsh SO &l T AU g
(a) 3:7 (b)7:3 (c)4:7 (d)7:4

15.The radii of two cylinders are in the ratio 5:7 and their heights are in the ratio
3:5, then the ratio of their curved surface area is :

(@) 3:7 (b)7:3 (c)4:7 (d)7:4
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16. AFATRET IRERAT deod W [9aR &8

o 0-5 6-11 12-17 18-23 24-29
3T
am 13 10 15 8 11
AT g T FUr AT B
(a) 17 (b) 17.5 (c)18 (d)18.5

16. Consider the following frequency distribution:

Class 0-5 6-11 12-17 18-23 24-29
Frequency | 13 10 15 8 11
The upper limit of the median class is

(@) 17 (b) 17.5 (c)18 (d)18.5

17.afe Thegr sl T ATET 3R #ATegs HaAw: 12 3R 15§, dF 59T
SgeTeh g
(a) 13.5 (b)21 (c) 6 (d)14

17.If the mean and the median of a data are 12 and 15 respectively,then its
mode is

(@) 13.5 (b)21 (c) 6 (d)14
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18.fonell TATRET GlETOT 9T & HET 3T I IHeJAT e hr FTTRIhr
— ¥ AR 3T o T WE 3T A F W oIy remar S, A
X SN &

(a)2 (b) 3 (c)9 (d)6

18.The probability of guessing the correct answer to a certain test questions is

TR If the probability of not guessing the correct answer to this question is

2 :
: ,then x is equal to

(a)2 (b) 3 (€)9 (d)6

gea 19 3R 20 & forw fger fAder gear IE&ar 19 31k 20 #,
AU (A) F a1 dH(R) FT FU9 g1 (@), (b), (c) 3R d) F I
el fashed Tor ST fob o fear amr &

(a) 3fARYA (A) IR T& (R) al\r el g 3R d& (R), ARTA
(A) & TE TEAT AT B

(b) IfFFUT (A) 3R d& (R) & e g 3R a& (R),
ANAFUA(A)  HT TET IEAT AdT Bl

(c) HBFUT (A) T ¥, T @ (R) ) Tie ¥ |

(d) 3ifAPYT (A) el &, Red T (R) FeT B

19.3fwY=(A); afe LCM=182, quiiehl & I0TAhel 26 x 91 &, @
HCF=13 g]

d% (R). LCM x quffe] &T I[07e7hel = HCF
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20.371fAFYA(A): &g (0,4) y-378T W &I B
a% (R). y-378T W fdg &1 X-fderns =7 giar ¢

Direction for Questions 19 & 20: In question numbers 19 and 20, a statement
of Assertion(A) is followed by a statement of Reason(R).Choose the correct
options from (a),(b),(c) and (d) as given below:

(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion(A).

(b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not correct
explanation of Assertion(A).

(c) Assertion(A) is true but Reason(R) is false.

(d) Assertion(A) is false but Reason(R) is true.

19.Assertion:If LCM=182,product of integers is 26 % 91,then HCF=13.
Reason: LCM X Product of integers = HCF

20. Assertion: The point (0,4) lies on y-axis.

Reason: The X-coordinate of the point on y-axis is zero.
gus -

SECTION-B
@3- H 2 3FI & 59 gl
Section B consists of 5 questions of 2 marks each.
21. k& 8 AHA(@AET & foT g 37A
kx +3y = k-3

12x + ky =k T FIg gol el &7
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21.For which value(s)of k will the pair of equations

kx +3y = k-3

12x + ky =k  have no solution?

AYar
OR

fTefaf@a 3maa 7 x 3R y &1 A I 9 FE

Find the values of x and y in the following rectangle :

»
»

3x+4y

<
<«

—
—

v

+— 2x- 2y

PACER:]
OA.OB=0C.0OD

fT@d & A= C3iR B=D

22.In Fig.

OA.OB=0C.OD

Showthat A= Cand B= D
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238 Gherd gal T e 5 @A 3R 3 qA | 93 g 1 39 Sftar
I ST AT AT ST B g Y T F g

23.Two concentric circles are of radii S5cm and 3 cm. Find the length of the
chord of the larger circle which touches the smaller circle.

2431 sinb+cos=v3, Al Tl HITFT & tand+cotd =1
24.If sinB + cos® = /3 ,then prove that tanB + cotd =1
Ygar

OR

5cos? 60°+4 sec? 30°—tan? 45°
24, HI AT AT HIfST|

sin? 30°+cos? 30°

5cos? 60°+4 sec? 30°—tan? 45°
sin? 30°+cos? 30°

24. Evaluate

2506 $R & & W gid & Sl WER eoied 78l aid &1 9
AIEUR H 25 GHT SIaTS I Ueh ol BIdT & Sl 11573 HI0T deh gH T
AHIS F Tohdl &l seIs HT Ycdh §eR T A1h hT I=AT Fel

ST Bel A HITAT|

25.A car has two wipers which do not overlap. Each wiper has a blade of length
25cm sweeping through an angle of 115°.Find the total area cleaned at each
sweep of the blades.

@usg -1

SECTION-C
QUS -7 H 3 HFT & 6 T ¢l
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Section C consists of 6 questions of 3 marks each.

26. facy AT & 3-2v/5 T IJANAT FE&AT g, f&ar aar § & V5 uah
e TEar g

26.Prove that 3-2v/5 is an irrational number,given that v'5 is an irrational
number.

2787 o 3 BIGIE f(x) =5x2-7x +1, & qEIH &, A (%+§)EF»[ AT
EIGECASIY

27.If aand (3 are the zeroes of the polynomial f(x) =5x? -7x +1, then find the

Valueof(%+§).

28T aRT S ST o FHARIOT JaA x+3y=6 3R 2x-3y=12

I g1 IS &7, a 3¢ ATH aRT gof Y|
28.Check graphically whether the pair of equations
x+3y=6 and 2x-3y=12 is consistent. If so, solve them graphically.
AYar
OR
28. &Y &AM & oI & 3R 268 3R U F&AT @ HEAT &I A
T &l 37 T

28.The difference between two numbers is 26 and one number is three times the
other. Find them.
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29.%g Odlel Ush gd W aTed fog T e FTR@T TP 3R TQ Wih
s ¥ Ry AT & PTQ=2 0OPQ

29.Two tangents TP and TQ are drawn to a circle with centre O from an
external point T. Prove that PTQ = 2 OPQ.

1—cos6
30. ey fifsT &% (cosecd — cotB)? =
) 1+cos0
1—cos6
30.Prove that (Cosec® — cotf)? =
1+coso
Agar
OR

15 HIeX ofel Teh WG U ¥ GIaR & MY ah Fgad &1 AfG A
SIAR & ATY 60° HT DT FATAT &, Al GIAR T S5 AT B

A ladder 15m long just reaches the top of a vertical wall. If the ladder makes an
angle of 60° with the wall, find the height of the wall.

31. Uh Wl H AT Yooh XI5 &1 el H U Fh Hl 3 IR 3Tl
giar g1 Ife T a1 o A 31 €, A TIAT Y 3HHT FAA Yoh AMIH
fAer e g1 Ife 9 e =T A &, O 38 YU Yoh AT A
&1 3TAT 98 8R S & | T W &l didd IR 3STeled 9T ST
TRSdT A HIfSiv 6 ag

(i) 9T 9AL Yok R ST 1 (ii) QNILAT A Yook W HIch g
(iii) el YT TAL Yoeh ATTH TIeT Fl ¢

31.In a game , the entry fee is X 5. The game consists of a tossing a coin 3 times.
If one or two heads show, Sweta gets her entry fee back. If she throws 3 heads,

14

Downloaded from cclchapter.com



she receives double the entry fees. Otherwise she will lose. For tossing a coin
three times, find the probabilities that she

(1) loses the entry fee. (ii) gets double entry fee. (iii) just gets her entry fee.
gus-y

Section —D

Section D consists of 4 questions of 5 marks each.
FUS- H 5 3P & 4937 I

32.Uh {S@MST Ueh FAT fd & 480 fohelt & gt & &t &1 afe arfa
8 fenal/EreT & B, af HA gl dF &t H 38 3 8¢ ¥ oerd|
Ieramar Fr I AT HIfT|

32.A train travels a distance of 480km at a uniform speed.If the speed had been
8km/h less,then it would have taken 3 hours more to cover the same
distance.Find the speed of the train.

AYar
OR

&l ShATITd EelTcHA qUITehl 3T AUTThel 306 &1 YUITeh AT HIfTT]|

The product of two consecutive positive integers is 306.Find the integers.

33.cyr HIfST fob afe fonell gt T U oo & FAER TH 3@
Gl ST, a6 3= a7 $ei¢ AT 3qard H ol g Sl &

33.Prove that if a line is drawn parallel to one side of a triangle ,the other two
sides are divided in the same ratio.
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34.Teh Tq Teh delel & 3PN &I § foTdh I Ueh e MY §
Ife, JeleThR $ET &7 FaA15 3R eard HAU: 2.1 HeX IR 4H X §
3R e Fr fode Farg 2.8 MeX §, o dFq T & faT 39 feho
AT heTdTH T &TThel AT hIfTT | AT B, dFe & heldld shl olETd
500 &9 Ui o7 Hiex & &7 A AT H| (LA & foh o & 3R
SholaTd A Tl gl STTI|)

34 A tent is in the shape of a cylinder surmounted by a conical top.If the height
and diameter of the cylindrical part are 2.1m and 4m respectively and the slant
height of the top is 2.8m,find the area of the canvas used for making the
tent.Also,find the cost of the canvas of the tent at the rate of Rs 500per m?.(Note
that the base of the tent will not be covered with canvas.)

AYdar
OR

Teh IMATHR T & ddeT HT Sl T § AT olar 3R =g 2
AT §; IMATPR AT T <T1H 8.5 QAT &1 STH W UTAT I AFT &l
Al W, Teh STd &l SHPI AT 345 A AT &1 3IWIFd Pl
AR AT & & H od gC o foF F1 98 e &, 3R 7=3.14

A spherical glass vessel has a cylindrical neck 8 cm long, 2cm in diameter; the
diameter of the spherical part is 8.5cm.By measuring the amount of water it
holds, a child finds its volume to be 345 cm?.Check whether she is correct,
taking the above as the inside measurements, and T = 3.14.

35,5 f&T AT Sced Tsh el & 30 BT Bl AN gdTdT g STt &l
AT AR AT S
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$1R(in kg) 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

Rem®iat| 2 3 8 6 6 3 2

~

fr gEar

35.The distribution below gives the weights of 30 students of a class.Find the
median weight of the students.

Weight(in | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75
kg)

No.of 2 3 8 6 6 3 2
students

gus-5
Section-E

Case study based questions

36.mﬁar§ﬁzooma£raﬁgﬁmamm%la€am
H 3T gl HT 51Fhs H [ I Thdl ¢ IR TS T 38918 &
Y 38 2 Uhs HH ol gl I8 39 31 Ahs H [T el drgal ol

3UAFT SATARNT & TUR G AFATIET I2AT & AT Ieiv|

(i) 3TYT 8T UTCd gl doh 38 HH F HA fohdel el de 309
AT BT (1)

(i)sT TEafad & Fa1 AP eIdr g2 (1)
(iii) & AP &I ndl UG aAn=2n+3 GaART fGAT 3T §, A SHFT AT

IR ol (2)

17
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P21)

X T Al o, g T 2x, x+10, 3x +2 AP & diel olar g &
()

36.Your friend Rahul wants to participate in a 200m race.He can currently run
that distance in 51seconds and with each day of practice it takes him 2 seconds
less.He wants to complete it in 31 seconds.

Based on the above information, answer the following questions.

(1) What is the minimum number of days he needs to practice till his goal is
achieved? (1)

(11))What is the AP formed in this situation? (1)

(ii1)If nth term of an AP is given by an = 2n+3,then write its common difference.

(2)
OR
Write the value of x, for which 2x, x+10, 3x +2 are three consecutive terms of
the AP. (2)
18
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37. AU AT fGaw T el 21 ST A AART ATl g1 2fvelr, e,
A 3R SAE IREET Q9T ead & Iaw W ool A THfeF AT
I & T geg #9 W) ufersd g o 6 &9 & fegmr g

Seafaf@d garar 1 s ¢

(iRadr 3R ofrer & Rufa fef@w) (1)
(i) T 3T A% & &= A gl FAT F? (1)
(iii) SM & @S & &3t & A& A1 o] (2)
ar

(iii) afe fog3it R, M, J & Sl arel 38T & 9ehRl 7 o1 | (2)

i
(]

[
[

o
o

‘ Eige o

rad

549 E{E‘

O I I - T

INTERNATIONAL YOGA

-123456789101112 DAY

Bt
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37. International Yoga Day is celebrated on 21June every
year.Sheela,Revti,Ram and Joseph are the trainers for Mass Yoga session in
schoolon the occasion of ‘International Yoga Day’ in a formation onthe main
stage as shown in the figure.

Answer the following questions:

(1)Write the position of Revti and Sheela. (1)

(i1))What is the distance between Revti and Joseph? (1)

(i11)Find the coordinates of points of trisection of SM. (2)
OR

(111) Name the type of triangle formed by the points R, M, J. (2)

38.200V3 HIeX 3 TR @ Teh Yol T Al al STglail T Fo dfeaer
AT Y S@aT § S Teh g feRr 7 3@l 3N &¢ W} & 3N R/
SR AT HTATST &I ST &1 ST F W IV STgTell & deialad
IO HALT: 60° 3R 30° § I3IReFd SATThRT & HUR R AFTaf@d
ge&l & 3T IS

(i) TR & g 9T & ggel Sielel i gt A1d MiS| (1)
(i) TR & foerel #1197 & qEX STglel &l gl AATd o] (1)
(iii) &7 STgTail & &= & gl JUT  ABCD &7 &13thel AT it | )
a1

(iii) g BC dAT AABC &I IRAT ATd ST )

20
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38.An army soldier from a tower of height 200v/3 m observes some suspicious
activity of two ships which are sailing towards it in the same direction and
immediately reports it to the headquarter.The angles of depression of the ships
as observed from the tower are 60° and 30° respectively.

Based on the above information anwer the followings questions:

(1) Find the distance of the first ship from the foot of tower. (1)
(i1)Find the distance of second ship from the foot of tower. (1)
(ii1) Find the distance between two ships and area of ABCD (2)
OR
(ii1) Find distance BC and perimeter of AABC (2)
21
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